CAMPIONATO REGIONALE DI CATEGORIA

Challenger, Fit Step, MAA Hip Hop, Ginnastica Aerobica

GHISALBA (BG) - 6 MARZO 2011

SINGOLO MASCHILE
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38 BONATTI SIMONE DANZAE SPORT 17.85 8,70 8,30 8,50 8,10 7,40 7,75 2,10 0,50 0,00 0,00 1°
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ALBERGATI M. CHIARA POL.COM. GHISALBESE 18,95 830 850 8,40 7.60 8.50 8.05 250 0,00 0,00 0,00 1°

GALLETTI CINZIA ASD AMICOSPORT 18,85 8,10 8,50 8,30 7,90 8,40 8,15 2,40 0,00 0,00 0,00 2°

BRAMBILLA GAIA DELFINO 18,50 8,10 8,40 8,25 7,50 7,90 7,70 2,55 0,00 0,00 0,00 3°

CORIO ERIKA POL.COM. GHISALBESE 17,70 7,40 8,30 7,85 7,10 7,10 7,10 2,75 0,00 0,00 0,00 4°

RONGA FEDERICA ASD AMICOSPORT 16,20 7,50 7,60 7,55 7,30 6,90 7,10 1,55 0,00 0,00 0,00 5°

ANELLI SILVIA AGS OPERA 14,75 7,20 7,80 7,50 6,80 5,80 6,30 1,05 0,00 0,00 0,10 6°
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52 COTI- BONATTI POL.COM. GHISALBESE 19,50 8,50 8,80 8,65 7,50 8,10 7,80 3,05 0,00 0,00 0,00 1°
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ALBERGATI - CORIO - PAGNONI POL.COM. GHISALBESE 17,28 7.80 7.60 7.70 7.00 6.60 6.80 2.78 0,00 0,00 0,00 1°

BRAMBILLA GRETA - POZZONI - VOLPE DELFINO 16,61 770 770 770 7.00 6,30 6,65 2,26 0,00 0,00 0,00 2°

GALLETTI - RONGA - DE SILVA ASD AMICOSPORT 15,09 7.40 6.90 7.15 6,60 5,50 6,05 1,89 0,00 0,00 0,00 3°
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BRAMBILLA GAIA - BRAMBILLA S. -
DONATI - POZZONI - VOLPE - BRAMBILLA DELFINO
GRETA 8,10 8,40 8,25 7,70 7,50
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